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The question paper is divided into two Sections
A and B. Section—A contains 7 Very Short Answer
Type Questions. Examinees have to attempt all
questions. Each question is of 1mark and
maximum word limit may be 30 words. Section—
B contains 8 Short Answer Type Questions.
Examinees will have to answer any four questions.
Each question is of 10 marks. Examinees have to

delimit each answer in maximum 200 words. Use
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1. (1)

of non-programmable scientific calculator is
allowed in this paper.
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Section-A 7x1=7
(@UE—3)
Very Short Answer Type Questions
(af =g I q9)
Write Cauchy’s nth root test.
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(ii)) Write Lagrange’s mean value theorem. Section—B 4x10=40

TSt ® A AWy fafem (TUE—9)

(ii1) Write polar formula for derivatives of arc. Short Answer Type Questions
M9 HT S S STEshe 1 a3 fafem) (g I T9)

(iv) Write the formula of radius of curvature in 2. Check convergence of given sequence :

parametric form.
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(v) Define concavity. & T Soft & efERe w5 St T
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(vi) Define family of curves. n=1 2
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3. If u:(x2 . +Zz)§, then prove that :
(vii) Define Beta function.
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4. Find asymptotes of the following curve :

(= 20)%(x — y) —4p(x = 29)~8x + 7») = 0

1 o & st I &I .
(x = 29)%(x — y) —4n(x - 20)-8x + T») = 0
5. Trace the curve :
x=a(0 + sin 0), y = a(l — cos 0)
T 1 STRET FHIWTC

x=a(® + sin 0), y = a(1 — cos 0)

6. Find the envelope of family of curves \/E + \/% =1
a

given g" + " = .
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7. Find perimeter of cardioids r = a(1 + cos 6) and

prove that its upper half is bisected by line 0 = g
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8. Evaluate :

X +y2

[ Y dxdydz
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9. Solve :

xsm@) dy = {ysin[%} —x}zx

TA HIWT :

xsin(%} dy = {ysin[%} —x}zx
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